R) a) T 3) T
b.) F W) T
c.) F ¢.) T
a.) T
e.) T
+) T
3) a) Km -?-(x) M (a“")~ = 2
X—aa /
Lo £(x) = ﬂm (3-x)=3-a<=|
X= 22 XK=

b.) &4@7 U E hecoae of
2
¢.) Mm £(X)=z Lem (§+:]:2+(:3/

X=>4~ Xy
L, -P(g}::,q»iwr, ('i:{+l):;{+-{=-3
X—= ¢+
cl) L J;’O() = 3 /&w (p c.)
X~
7, T
'7-) 4-) 14 f $(x) = 223/ zf_((
foeeg ) =
z—ax
; L b]M—PCx}}mx\l~1
k X-(~ X—= (=

Lom $(x] = fom x? = (7=
X 1t X—=1%




e.) Lo $(x) = | /&m? b.)

X~

12.) fomn [ x-1 :-\E:@:‘E=O

Xx= ¥ 1 X+5

5. ) Lo Y dh+s — V5

h=o* 7
3 — VR eth+5 - & i s « /5
> T K1
g ViA+ Ul s + &

Lo (BB dhrg)— 5
"o b (ks + (3D

H

+ ——— = =
ot K (rdes 1 05)  WHE
. S .
T Vs T UE
7.) b.) An (xe3) | x+2/ s
X= -~ X+ 2 X=—2
= Jen Q("‘:f)"Q(;\/ZZ) X+ <
X=—2~ XK
= Ao = (x+3) = = (mat3) =~
X=>—2 .
073)}-“% £ 3Y T L, [pn3Y] 3
Y=o Y Y-r o 3V vy




h=>6" on3 h~>o™ J
2&:) Lo 2T ::32 A%
t—=2o Hent T gy sint
cod L

wae_z‘kx__f,@»«'w\ x

X*‘*O CoL 5K, A X

::/L’:"’“l";lx 'AOC‘7, b—

X=6 A a4iqaX c:oqb’x

29) A X¥Xewtx G =
X—=0 AMX codX K"'° S

- ) =L 4

! l0\

loje

l
i (ML‘)“ “/QWVL gnk
S ko K 7 L

34)
(\ — 1

° sl k=i
75) o Ll | L S

60 Ao = -l 02’7’ O el 6
( _ {

———

a (i) -
34 . M 9 ‘1 __5: . pndX . .:’i(._
/ Xm0 _gia X x==o \M §X - Aumax

= 5.0).() = &
=0 = 3




